
B–1407/BBCS–185   P. T. O. 

No. of Printed Pages : 6 BBCS–185 
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BBCS–185 : BIOINFORMATICS 

 Time : 2 Hours    Maximum Marks : 50 

Note : (i) Attempt any five questions.  

 (ii) All questions carry equal marks.  

1. Explain the following terms in 1–2 sentences : 

4×21
2
=10 

(i) Gap penalty in sequence alignment 

(ii) Conserved region in sequence 

(iii) CADD 

(iv) Primary database (biological) 

 2. (a) Differentiate between sequence similarity 

and sequence homology. 21
2
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(b) What is FASTA sequence format and its 
use ?  21

2
 

(c) Expand the following acronyms : 5×1=5 
(i) NGS 
(ii) BLAST 
(iii) RCSB 
(iv) EMBL 
(v) GUI 

3. (a) What are SCoP and CATH ? Explain 
briefly.  5 

(b) Differentiate between primary and 
secondary biological databases. 5 

4. (a) Describe the basic operations of a 
computer. 5 

(b) Write short notes on the following : 
2×21

2
=5 

(i) WAN 
(ii) Search engines 

5. Explain the following terms in brief : 5×2=10 
(i) High scoring segment pair 
(ii) Homologous sequences 
(iii) Curated databases 
(iv) GenBank 
(v) Transcriptome 
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6. Explain different methods for pairwise 
alignment of nucleotide and protein sequences. 

10 

7. (a) What are alignment scoring matrices ? 
Discuss their uses. 5 

(b) How does local alignment of sequences 
differ from global alignment ? Explain 
briefly.  5 
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ch- ,l&lh- (vkWulZ) tSojlk;u  

(ch- ,l&lh- ch- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-ch-lh-,l--185 % ck;ksbUiQkWesZfVDl 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA  

1- fuEufyf[kr 'kCnksa dks 1&2 okD;ksa esa le>kb, % 

4×21
2
=10 

(i) vuqØe lajs[k.k esa xSi isuYVh 

(ii) vuqØe esa lajf{kr {ks=k 
(iii) CADD 
(iv) izkbejh MkVkcsl (tSfod) 
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2- (d) vuqØe lekurk vkSj vuqØe letkrrk ds chp 

varj crkb,A 21
2 

([k) FASTA vuqØe iQkWesZV vkSj bldk vuqiz;ksx 

D;k gS \ 21
2 

(x) fuEufyf[kr y?kq :iksa dk foLrkj dhft, % 

5×1=5 
(i) NGS 
(ii) BLAST 
(iii) RCSB 
(iv) EMBL 
(v) GUI 

3- (d) SCoP vkSj CATH D;k gSa \ la{ksi esa le>kb,A 

5 
([k) izkFkfed vkSj f}rh;d tSfod MsVkcsl ds chp 

varj crkb,A 5 

4- (d) ,d dEI;wVj ds ekSfyd vkWijs'kUl dh O;k[;k 

dhft,A  5 

([k) fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×21
2
=5 

(i) WAN 
(ii) [kkst batu 
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5- fuEufyf[kr 'kCnksa dks la{ksi esa le>kb, % 5×2=10 

(i) gkbZ Ldksfjax lsxesaV is;j 

(ii) ltkrh; vuqØe 

(iii) D;wjsVsM MkVkcsl 

(iv) GenBank 

(v) VªkalfØIVkse 

6- U;wfDyvksVkbM vkSj izksVhu vuqØeksa ds tksM+s vuqlkj 

lajs[k.k dh fofHkUu fof/;ksa dh O;k[;k dhft,A 10 

7- (d) lajs[k.k Ldksfjax eSfVªDl D;k gksrs gSa \ buds 

vuqiz;ksxksa dh ppkZ dhft,A 5 

([k) vuqØeksa dk LFkkuh; lajs[k.k oSf'od lajs[k.k ls 

fdl izdkj fHkUu gksrk gS \ la{ksi esa crkb,A 5 
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